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1. Open market proceedings are included in:
(a) Qualitative methods of credit control
(b) Quantitative methods of credit control
(c) Controlling the fiscal policy
(d) Controlling the labour policy

2. "Open Market Operations" are the feature of which of the
following policy ?
(a) Revenue Policy
(b) Fiscal Policy
(c) Monetary Policy
(d) Labour Policy

3. Which of the following is NOT an instrument of the
monetary policy of the Reserve Bank of India?
(a) Bank Rate
(b) Statutory Liquidity Ratio
(c) Goods and Service Tax
(d) Cash Reserve Ratio

4. In general, the main goal of the monetary policy is-
(a) Control on money supply
(b) Control on private banks
(c) Control on share market
(d) Controlling the precious metals market

5. Which one of the following is not an objective of Monetary
Policy ?
(a) Price Stability
(b) Economic Stability
(c) Equitable distribution of Income and Assets
(d) Foreign Exchange Rate Stability

6. When the Reserve Bank of India annonces an increase of
the Cash Reserve Ratio, what does it mean?
(a) The commercial banks will have less money to lend
(b) The Reserve Bank of India will have less money to lend
(c) The Union Government will have less money to lend
(d) The commercial banks will have more money to lend

7. If the RBI decides to adopt an expansionist monetary policy,
which of the following would is not do?
1. Cut and optimize the Statutory Liquidity Ratio
2. Increase the Marginal Standing Facility Rate
3. Cut the Bank Rate and Repo Rate
Select the correct answer using the code given below:
(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d) 1, 2 and 3

1.

(a)

(b)

(c)

(d)

2.

(a)

(b)

(c)

(d)

3.

(a)

(b)

(c)

(d)

4.

(a)

(b)

(c)

(d)

5.

(a)

(b)

(c)

(d)

6.

(a)

(b)

(c)

(d)

7.

(a) (b)

(c) (d)
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8. Consider the following measure that R.B.I. uses to control
inflation in the economy.
1. Increase Bank Rate
2. Increase Cash Reserve Ratio
3. Increase statutory liquidity Ratio
4. Purchase of government securities
Select the correct answer from the codes given below:
Codes:
(a) Only 1 and 2
(b) Only 1, 2 and 3
(c) Only 2, 3 and 4
(d) Only 1, 3 and 4

9. Which one of the following is not an instrument of selective
credit control in India?
(a) Regulation of consumer credit
(b) Rationing of Credit
(c) Margin Requirement
(d) Variable cost reserve ratio

10. Which of the following is not the instruement of monetary
policy in India?
(a) Repo Rate
(b) SLR
(c) CRR
(d) Tax change

11. With reference to Indian economy, consider the following :
1. Bank rate
2. Open market operations
3. Public debt
4. Public revenue
Which of the above is/are component/ components of
Monetary Policy ?
(a) 1 only
(b) 1 and 2
(c) 2, 3 and 4
(d) 1, 3 and 4

12. The terms 'Marginal Standing Facility Rate' and Net Demand
and Time Liabilities', sometimes appearing in news, are used
in relation to
(a) Banking operations
(b) Communication networking
(c) Military strategies
(d) Supply and demand of agricultural products

13. When the Reserve Rank of India reduces the Statutory
Liquidity Ratio by 50 basis points, which of the following
is likely to happen?
(a) India's GDP growth rate increases drastically
(b) Foreign Institutional Investors may bring more capital

into our country
(c) Scheduled Commercial Banks may cut their lending

rates
(d) It may drastically reduce the liquidity to the banking

system

8.

(a) (b)

(c) (d)

9.

(a)

(b)

(c)

(d)

10.

(a) (b)

(c) (d)

11.

(a) (b)

(c) (d)

12. (Marginal standing facility rate)
(Net Demand and time liabilities)

(a) (b)

(c)

(d)

13.

(a) GDP 

(b)

(c)

(d)
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14. In the context of Indian economy; which of the following
is/are the purpose/purposes of 'Statutory Reserve
Requirements'?
1. To enable the Central Bank to control the amount of

advances the banks can create
2. To make the people's deposits with banks safe and liquid
3. To prevent the commercial banks from making excessive

profits
4. To force the banks to have sufficient vault cash to meet

their day-to-day requirements
Select the correct answer using the code given below.
(a) I only
(b) 1 and 2 only
(c) 2 and 3 only
(d) 1, 2, 3 and 4

15. If the interest rate is decreased in an economy, it will-
(a) Decrease the consumption expenditure in the economy
(b) Increase the tax collection of the Government
(c) Increase the investment expenditure in economy
(d) Increase the total savings in the economy

16. The banks are required to maintain a certain ratio between
their cash in hand and total assets. This is called
(a) SBR (Statutory Bank Ratio)
(b) SLR (Statutory Liquid Ratio)
(c) CBR (Central Bank Reserve)
(d) CLR (Central Liquid Reserve)

17. If the cash fund ratio is reduced by the Reserve Bank of
India, its impact on credit creation will be-
(a) Increase
(b) Decrease
(c) No effect
(d) None of the above

18. Bank Rate means:
(a) Interest rate given by banks to depositors
(b) Bank rate charged by bank from borrowers
(c) Bank rate on inter bank lending
(d) Interest rate charged by central bank on the loans given
to other banks.

19. An increase in the Bank Rate generally indicates that the
(a) Market rate of interest is likely to fall
(b) Central Bank is no longer making loans to commercial banks
(c) Central Bank is following an easy money policy
(d) Central Bank is following a tight money policy

20. With reference to the Monetary Policy of India, which
statement (s) is / are correct?
1. The higher Repo rate implies that lesser credit will flow

into banking system.
2. R.B.I. has relied on Repo rate and Revers Repo rate to

control inflation in recent times.
Choose the correct answer using codes given below-
(a) (1) Only (b) (2) Only
(c) Both (1) and (2)
(d) None of the above

14.

(statutory reserve require-
ments)

(a) (b)

(c) (d)

15.

(a)

(b)

(c)

(d)

16.

(a) (b)

(c) (d)

17. (C.R.R) 

(a) (b)

(c)

(d)

18.

(a)

(b)

(c)

(d)

19.

(a)

(b)

(c)

(d)

20.

(a)

(b)

(c)

(d)

KGS Campus  Patna –6  Mob. : 8877918018, 8757354880



By : Bharat Sir

4

21. The interest rate at which the Reserve Bank of India lends
to Commercial banks in the short-term to maintain liquidity
is known as
(a) Interest rate
(b) Bank rate
(c) Reverse repo rate
(d) Repo rate

22. The repurchase option is used.
(a) To ease the pressure of heavy selling of the rupee in the

exchange market
(b) To increase the pressure of heavy selling of the rupee in

the exchange market
(c) To reduce the value of rupee in the exchange market
(d) None of the above

23. The rate at which banks lend to the Reserve Bank of India.
(a) Bank Rate
(b) Repo Rate
(c) Reverse repo rate
(d) Interest rate

24. Consider the following statements:
1. Bank rate is the rate of interest which RBI charges its

clients on their short-term borrowing
2. Repo rate is the rate of interest which RBI Charges its

clients on their long term borrowing.
Which of the statements given above is/are incorrect?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

25. Priority Sector Lending by banks in India constitutes the
lending to
(a) Agriculture
(b) Micro and small enterprises
(c) Weaker sections
(d) All of the above

26. In the context of independent India's Economy, which one
of the following was the earliest event to take place?
(a) Nationalisation of Insurance companies
(b) Nationalization of State Bank of India
(c) Enactment of Banking Regulation Act
(d) Introduction of First Five-Year Plan

27. Which of the following measures would result in an increase
in the money supply in the economy?
1. Purchase of govt securities from the public by the cen-

tral bank
2. Deposit of currency in commercial banks by the public
3. Borrowing by the govt. from the central bank
4. Sale of govt. secs. To the public by the central bank
Select the correct answer using the codes given below:
(a) I only (b) 2 and 4 only
(c) 1 and 3 (d) 2, 3 and 4

28. Which of the following Institution/Office bring out the
Wholesale Price Index (WPI) data in India ?
(a) The Reserve Bank of India
(b) The Ministery of Commerce and Industry
(c) The Ministery of Finance
(d) The Ministry of Consumer Affairs, Food and Public
Distribution

21.

(a) (b)

(c) (d)

22.

(a)

(b)

(c)

(d)

23.

(a) (b)

(c) (d)

24.

(a) (b)

(c) (d)

25. (Priority Sector) 

(a) (b)

(c) (d)

26.

(a)

(b)

(c)

(d)

27.

(a) (b)

(c) (d)

28. (WPI)

(a)

(b)

(c)

(d)
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29. Which one of the following Committee has chosen
CPI(Consumer Price Index) as inflation measurement rather
than WPI (Whole sale Price Index) in India?
(a) Urijit Patel Committee
(b) Kelkar Committee
(c) Cheliaya Committee
(d) Rangrajan Committee

30. Which year has the Government of India changed from the
base year 2004-05 to the All India Wholesale Price Index?
(a) 2010-11 (b) 2011-12
(c) 2012-13 (d) 2013-14
(e) None of the above/ More than one of the above

31. Consider the following items of wholesale price index:
1. Primary articles
2. Fuel, power, lights and lubricants
3. Manufacturing products
Arrange the above items in descending order in terms of
their weightage in calculating wholesale price index:
(a) 1, 2, 3 (b) 3, 1, 2
(c) 1,3,2 (d) 3, 2, 1

32. What is the weightage (in percent) of manufactured products
in calculation of Wholesale Price Index (WPI)?
(a) 62.46% (b) 63.43%
(c) 64.23% (d) 60.23%

33. Which one of the following regions is given the highest
weight in the measurement of wholesale price index?
(a) Food sector
(b) Non-food sector
(c) Fuel, power, light and lubricants
(d) Manufacturing products

34. Which one of the following indices is now used by the
Reserve Bank of India to measure the rate of inflation in
India ?
(a) NASDAQ Index
(b) BSE Index
(c) Consumer Price Index
(d) Wholesale Price Index

35. In India, Deamess Allowances of employees is provided on
the basis of
(a) National Income
(b) Consumer Price Index
(c) Living Standard
(d) Per Capita Income

36. Headline inflation refers to the change in value of all goods
on the basket. On which basis is the headline inflation
measured ?
(a) Wholesale Price Index
(b) Consumer Price index for industrial worker
(c) Combined consumer Price index
(d) Urban consumer Price index

37. In India, headline inflation is based on
(a) Consumer Food Price Index (CFPI)
(b) Consumer Price Index Rural Labourers (CPI- - RL)
(c) Wholesale Price Index (WPI)
(d) Consumer Price Index - Combined (CPI-C)

29.

(a) (b)

(c) (d)

30.

(a) (b)

(c) (d)

(e)

31.

(a) (b)

(c) (d)

32. (WPI)

(a) 62.46% (b) 63.43%
(c) 64.23% (d) 60.23%

33.

(Weightage)
(a)

(b)

(c)

(d)

34.

(a) NASDAQ (b) BSE
(c) (d)

35.

(a) (b)

(c)

(d)

36.

(a)

(b)

(c)

(d)

37.

(a) (CFPI)
(b) (CPI-RL)
(c) (WPI)
(d) (CPI-C)
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38. Inflation based on consumer price index rises if-

(a) Bank rate is decreased

(b) Reverse repo rate is increased

(c) Statutory liquidity ratio increased

(d) Repo rate is increased

39. In which year was the base of the consumer price index of
industrial workers changed from the year 2001 to 2016

(a) 2019 (b) 2020

(c) 2018 (d) 2010

40. Who among the following was the Chairman of the Working
Group for determining the methodology for construction of
Producer Price Index (PPI) in India (2014) ?

(a) Saumitra Chaudhury

(b) D.V. Subbarao

(c) Abhijit Sen

(d) B.N. Goldar

41. Two statements are given below, is labelled as Assertion
(A) and other as Reason (R):

Assertion (A): The government faces a tough time tackling
the bottleneck inflation.

Reason (R): The situation is due to deficiencies existing in
the economy such as supply bottleneck and inefficient
distribution.

Select the correct answer from the codes given below.

Codes:

(a) Both (A) and (R) are true and (R) is correct explanation
of (A)

(b) Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

42. With reference to Indian economy, demand-pull inflation
can be caused/increased by which of the following?

1. Expansionary policies

2. Fiscal stimulus

3. Inflation-indexing wages

4. Higher purchasing power

5. Rising interest rates

Select the correct answer using the code given below.

(a) 1, 2 and 4 only

(b) 3, 4 and 5 only

(c) 1, 2, 3 and 5 only

(d) 1, 2, 3, 4 and 5

43. Which one of the following is likely to be the most
inflationary in its effects?

(a) Repayment of public debt

(b) Borrowing from the public to finance a budget deficit

(c) Borrowing from the banks to finance a budget deficit

(d) Creation of new money to finance a budget deficit

38.

(a)

(b)

(c)

(d)

39.

(a) 2019 (b) 2020

(c) 2018 (d) 2010

40.  (PPI)

(a)

(b)

(c)

(d)

41.  (A)
(R)

(A)

(R)

(a) (A) (R) (R) (A)

(b) (A) (R) (R) (A)

(c) (A) (R)
(d) (A) (R)

42.

(a)

(b)

(c)

(d)

43.

(a)

(b)

(c)

(d)
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44. Which of the following statements is not true?
(a) Inflation causes unequal distribution of income
(b) Inflation may have positive impact on level of

employment
(c) Inflation can be controlled by monetary measures only
(d) Deflation is more harmful in comparison to inflation

45. With reference to the core inflation which of the following
statements is/are correct?
1. Core inflation is also affected by temporary shocks
2. Core inflation can be measured by removing food and

fuel components from head line inflation
Select the correct answer from the codes given below
Codes
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

46. Core inflation can be defined as
(a) Only from headline inflation excluding fuel inflation
(b) Food inflation and Fuel inflation
(c) Except food inflation from headline inflation
(d) Except food and fuel inflation only headline inflation

47. Which of the following is not the measure of inflation
control?
(a) Control on demand
(b) Control on money supply
(c) Decreasing the rate of interest
(d) Rationing of goods

48. Who among the followings benefited most from money
inflation?
(a) Money lenders
(b) Debtors
(c) Saving a/c holders
(d) State pentioners

49. In India, which one of the following is responsible for
maintaining price stability by controlling Inflation?
(a) Department of Consumer Affairs
(b) Expenditure Management Commission
(c) Financial Stability and Development Council
(d) Reserve Bank of India

50. Which of the following goods are included to estimate food
inflation in India?
1. Wheat
2. Paddy
3. Tobacco
4. Sugar
Select the correct answer using the code given below
(a) 1, 2 and 3
(b) 1, 3 and 4
(c) 2, 3 and 4
(d) 1, 2 and 4

51. Surge pricing takes place when a service provider
(a) raises the price of its product or service as demand out-

strips supply
(b) follows preset prices immune to demand an supply

dynamics
(c) fixes a minimum price for its services
(d) fixes an average price on the basis of transactions carried

over a day

44.  

(a)

(b)

(c)

(d)

45.  

(a) (b)

(c) (d)

46.  

(a)

(b)

(c)

(d)

47.

(a) (b)

(c) (d)

48.  

(a) (b)

(c)

(d)

49.  

(a)

(b)

(c)

(d)

50.  

(a) (b)

(c) (d)

51.  

(a)

(b)

(c)

(d)
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52. Which of the following will be the outcome if an economy
is under the inflatonary pressure?
1. Domestic currency heads for depreciation.
2. Exports become less competitive
3. Cost of borrowing decreases.
4. Bondholders get benefitted
(a) 1 and 2
(b) 2 and 3
(c) 1 and 3 only
(d) 1, 3 and 4

53. Rise in the price of a commodity means
(a) rise in the value of currency only
(b) fall in the value of currency only
(c) rise in the value of commodity only
(d) fall in the value of currency and rise in the value of
commodity

54. With reference to inflation in India, which of the following
statements is correct?
(a) Controlling the inflation in India is the responsibility

of the Government of India only
(b) The Reserve Bank of India has no role in controlling

the inflation
(c) Decreased money circulation helps in controlling the

inflation
(d) Increased money circulation helps in controlling the

inflation
55. Which one among the following is an appropriate description

of 'deflation' ?
(a) It is a sudden fall in the value of a currency against

other currencies
(b) It is a persistent recession in the economy
(c) It is a persistent fall in the general price level of goods

and services
(d) It is a fall in the rate of inflation over a period of time

56. A rapid increase in the rate of inflation is sometimes
attributed to the "base effect". What is "base effect" ?
(a) It is the impact of drastic deficiency in supply due to

failure of crops.
(b) It is the impact of the surge in demand due to rapid

economic growth.
(c) It is the impact of the price levels of previous year on

the calculation of inflation rate.
(d) None of the statements (a), (b) and (c) given above is

correct in this context.
57. Difference of expenditure and revenue in deficit financing

is covered by printing Additional paper currency. Objective
of this method is economic development. But if it fails, then
the situation arises-
(a) Money deflation
(b) Demonatization
(c) Devaluation of currency
(d) Money inflation

58. The Philips curve expresses the relationship between-
(a) Money disinflation and unemployment
(b) Money inflation and unemployment
(c) Money inflation and Hidden unemployment
(d) Money disinflation and cyclical unemployment

52.  

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

53.  

(a)

(b)

(c)

(d)

54.

(a)

(b)

(c)

(d)

55.  

(a)

(b)

(c)

(d)

56.  

(base effect)

(a)

(b)

(c)

(d) (a) (b) (c)

57.  

(a) (b)

(c) (d)

58.  

(a)

(b)

(c)

(d)
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59. Fiscal policy in India is formulated by
(a) the Reserve Bank of India
(b) the Planning Commission
(c) the Finance Ministry
(d) the Securities and Exchange Board of India

60. Golden rule of fiscal policy in India is:
(a) Borrowing only for current expenditure
(b) Borrowing only for public investment
(c) Borrowing only for repayment our debt
(d) Borrowing for bu dget expenditure

61. Improving the grown performance of the economy and
ensuring social justice to the people are two main objectives
of which policy ?
(a) Mwetary policy (b) Fical policy
(c) Cedit policy (d) Health policy

62. Which one of the following is not an instrument of fiscal
policy in India?
(a) Tration
(b) Public debt
(c) Public expenditure
(d) Opnmarket proceedings

63. Which of the following is not a goal of fiscal policy of India?
(a) Ful employment
(b) Price stability
(c) Regulation of inter–state trade
(d) Equiable distribution of wealth and income

64. Which one of the following is the part of fiscal policy?
(a) Production policy
(b) Taxation policy
(c) Foreign policy
(d) Interest rate policy

65. Controlling authority of government expenditure is-
(a) Reserve bank of India
(b) Plannig commission
(c) Finance Ministry
(d) Finance Commission

66. Consider the following actions by the Government:
1. Cutting the tax rates
2. Increasing the government
3. Abolishing the subsidies
In the context of economic recession, which of the above
actions can be considered a part of the "fiscal stimulus"
package?
(a) 1 and 2 only (b) 2 only
(c) 1 and 3 only (d) 1, 2 and 3

67. Which one of the following statements appropriately
describes the "fiscal stimulus" ?
(a) It is a massive investment by the government in manu-

facturing sector to ensure the supply of good to meet
the demand surge caused by rapid economic growth.

(b) It is an intense affirmative action of the government to
boost economic activity in the country.

(c) It is government's intensive action on financial
institutions to ensure disbursement of loans to
agriculture and allied sectors to promote greater food
production and contain food inflation

(d) It is an extreme affirmative action by the government to
pursue its policy of financial inclusion.

59.  

(a) (b)

(c)         (d)

60.  

(a)

(b)

(c)

(d)

61.  

(a) (b)

(c) (d)

62.  

(a) (b)

(c) (d)

63.  (Fiscal policy) 

(a)

(b)

(c)

(d)

64.  

(a) (b)

(c) (d)

65.  

(a) (b)

(c) (d)

66.  

(a) (b)

(c) (d)

67.  

(a)

(b)

(c)

(d)
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68. Which of the following measures should be taken when an
economy is going therough inflationary pressures?
1. The direct taxes should be increased.
2. The interest rate should be reduced.
3. The public spending should be increased.
Select the correct answer using the code given below:
Code:
(a) 1 only
(b) 2 and 3
(c) 2 only
(d) 1 and 2

69. Which among the following steps is most likely to be taken
at the time of an economic recession?
(a) Cut in tax rates accompanied by increase in expendi-

ture on public  projects
(b) Increase in expenditure on public projects
(c) Increase in tax rates accompanied by reduction of

interest rate
(d) Reduction of expenditure on public projects

70. Which of the following is/are the example(s) of Transfer
Payment(s) ?
1. Unemployment Allowance
2. Pament of Salary
3. Social Security Payments
4. Old age Pension
Select the correct answer using the code given below:
(a) 1 and 3 only
(b) 1, 2 and 3 only
(c) 1, 3 and 4 only
(d) None of the above

71. Which one of the following is true in above context?
(a) A and R both are true and R is correct explanation of A
(b) A and R both are true but R is not correct explanation A
(c) A is true but R is false
(d) A is false but R is true

72. What is the effect of deficit financing on economy?
(a) Derease in taxes
(b) Increase in wages
(c) Increase in money suppl
(d) Derease in money supply

73. If too much money is chasing too few goods, the resulting
inflation is known as.
(a) Stagflation
(b) Cost-push inflation
(c) Demand-pull inflation
(d) None of the above

74. Which one of the following is an effective method to control
inflation in the economy.
(a) Cash reserve ratio
(b) Selective control of credit
(c) Bank rate policy
(d) None of the above

75. Which among the following terms denotes a situation in
which high inflation, high unemployment and stagnant
economic growth are experienced simultaneously in an
economy?
(a) Reflation (b) Deflation
(c) Skewflation (d) Stagflation 

68.  

(a) (b)

(c) (d)

69.  

(a)

(b)

(c)

(d)

70.  

(a)

(b)

(c)

(d)

71.  

(a) A R R, A 

(b) A R R, A 

(c) A R 

(d) A R 

72.  

(a) (b)

(c) (d)

(a) (b)
(c) (d)

(a)
(b)
(c)
(d)

(a) (b)
(c) (d)
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76.  Consider the following statements regarding the traits of
“recession”:
1. General fall in deman
2. Inflation remains higher and no signs of going down.
3. Unemployment rate grows.
Which of the statements above given is/are correct?
(a) 1 only
(b) 1 and 2 only
(c) 1 and 3 only
(d) 1, 2 and 3

77.  With reference to the “effects of inflation”, which of the
following statements is/are NOT correct?
1. Inflation redistributes wealth from creditors to debtors.
2. Rising inflation indicates rising aggregate deman
Select the correct answer using the codes given below:
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

78. Which one among the following items has maximum weight
in wholesale price index (WPI)?
(a) Raw materials
(b) Fuel and electricity
(c) Food Items
(d) Manufactured products

79. The Reserve Bank of India (RBI) can take the measure of
_________ to control inflation within the country.
(a) Rationing of credit
(b) Introducing a progressive tax system
(c) Improving profits of the public sector
(d) Controlling public expenditure

80. For measuring the changes in the price level of the country,
which among the following index number is used? 
(a) Consumer price index number
(b) Production index number
(c) Security price index number
(d) Wholesale price index number

81. Which is incorrect about inflation?
(a) Inflation indicated the rise in the price of basket of com-

modities on a point-to-point basis
(b) The inflation rate in India is calculated on the basis of

the wholesale price index
(c) For some commodities retail prices are also considered

for measurement of inflation
(d) Inflation rate going down does not mean prices are

declining
82.  Inflation is best described as.

(a) high prices
(b) increase in taxes
(c) increase in purchasing power
(d) increase in general price level

83. Who amongst the following benefits most from inflation?
(a) Creditors
(b) Debtors
(c) Saving Bank Account Holders
(d) Government Pensioners

(a) (b)
(c) (d)

(a) (b)
(c) (d)

(WPI)

(a) (b)
(c) (d)

(RBI)
_________

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(a)

(b)

(c)

(d)

(a)
(b)
(c)
(d)

(a) (b)
(c) (d)
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84. Which one of the following is NOT a method to control
inflation?

(a) Controlling the demand

(b) Controlling the supply of money

(c) Reducing the rate of interest

(d) Rationing of credit

85. Which of the following price index number are used for
calculation of Central Government employee wage
compensation and Dearness Allownces?

(a) Wholesale price index

(b) Consumer price index for industrial workers

(c) Consumer price index for agricultural labourers

(d) None of the above

86. With reference to India, consider the following statements.

1. The Wholesale Price Index (WPI) in India is available
on a monthly basis only.

2. As compared on Consumers Price Index for Industrial
Workers [CPI(IW)] the WPI gives less weight to food
articles.

Which of the following statement given above is/are correct?

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

87. Consider the following statements and state which is/are
correct?

1. The sub-prime crisis which hit the U.S. economy was
caused by sudden increase in oil prices.

2. The crisis led to default in home loan repayment.

3. It led to failure of some U.S. Banks.

4. Sub-prime crisis caused crash in Indian stock market.

Choose your answer from the given codes.

(a) Only 1

(b) Only 2 and 4

(c) Only 2, 3 and 4

(d) 1, 2, 3 and 4

88. The most common measure of estimating inflation in India
is.

(a) Price Index

(b) Wholesale Price Index

(c) Consumer Price Index

(d) Price Index of Index Goods

89. Which one of the following statements is an appropriate
description of deflation?

(a) It is a sudden fall in the value of a currency against other
currencies

(b) It is persistent recession in both the financial and real
sectors of economy

(c) It is a persistent fall in the general price level of goods
and services

(d) It is a fall in the rate of inflation over a period of time

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(WPI)

(a) (b)
(c) (d)

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(a)

(b)

(c)

(d)
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90. A rapid increase in the rate of inflation is sometimes attributed
to the ‘base effect’. What ‘base effect’?
(a) It is the impact of drastic deficiency in supply due to

failure of crops
(b) It is the impact of the surge in demand due to rapid

economic growth
(c) It is the impact of the price levels of previous year on

the calculation of inflation rate
(d) None of the statements (a), (b) and (c) given above is

correct in this content
91. In calculation of index of wholesale prices, which one of the

following sector is assigned maximum weightage?
(a) Food articles
(b) Non-food articles
(c) Fuel, power, light and lubricant
(d) Manufactured products

92. The base year for All-India Wholesale Price Index (WPI)
has been changed by the Government of India from 2004-
05 to.
(a) 2010-11
(b) 2011-12
(c) 2012-13
(d) 2013-14

93. Which of the following fixed the four percent inflation target
in India with tolerance level of +/–2 percent for the period
2021 to 2026?
(a) Reserve Bank of India
(b) Government of India
(c) NITI Aayog
(d) Fourteenth Finance Commission

94. Producer Price Index measures.
(a) the average change in the prices of produced goods and

services
(b) the marginal change in the prices of produced goods

and services
(c) the total change in the prices of produced goods and

services
(d) None of the above

95. With reference to Monetary Policy Committee (MPC),
consider the following statements:
1. It comes under the RBI Act, 1934 section 45Z
2. The Governor of RBI is ex-officio Chairman of the MP
Which of the statements given above is/are correct?
(a) 1 only
 (b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

96. Which of the following is not a quantitative instrument of
monetary policy of the RBI?
(a) Bank Rate
(b) Cash Reserve Ratio
(c) Open Market Operations
(d) Imposing Margin Requirements on Secured Loans

(a)

(b)
(c)

(d) (a) (b) (c)

(a)
(b)
(c)
(d)

(WPI)

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

RBI

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)
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(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

97. Repo rate is a

(a) Short term loan

(b) Long term loan

(c) Both a and b

(d) None of the above

98. During Expansionary Fiscal policy

(a) Tax rates decrease

(b) Government expenditures decreases

(c) Rate of  National Saving Certificate increases

(d) None of the above

99. Fiscal Consolidation means

(a) When the government expenditures increases

(b) When the government Expenditure Decreases

(c) When Bank rate increases

(d) When government  increases its Debt

100. For controlling inflation, RBI would

(a) Increase bank rate

(b) Increase its expenditure on printing notes

(c) Increase its staff  members

(d) Increase its brances


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